

الف) $y = x(x^2 - 3x + 3) \xrightarrow{\text{سب}} y = x \rightarrow R_f = \mathbb{R} \checkmark$ (الف) (۲)

ب) $y = x \rightarrow x^2 - 3x + 3 = 0 \rightarrow x = \frac{3 \pm \sqrt{9 - 12}}{2} = \frac{3 \pm \sqrt{-3}}{2}$ (ب) ۱

$y = x^2 - 3x + 3 = 0 \rightarrow x = \frac{3 \pm \sqrt{9 - 12}}{2} = \frac{3 \pm \sqrt{-3}}{2}$ (ب) ۱

$R_f = [1, 1] = (-\infty, -1] \cup (0, \infty) \checkmark$

الف) $y = x \rightarrow x^2 - 3x + 3 = 0 \rightarrow x = \frac{3 \pm \sqrt{9 - 12}}{2} = \frac{3 \pm \sqrt{-3}}{2}$ (الف) (۲)

ب) $y = x \rightarrow x^2 - 3x + 3 = 0 \rightarrow x = \frac{3 \pm \sqrt{9 - 12}}{2} = \frac{3 \pm \sqrt{-3}}{2}$ (ب) ۲

ج) $y = x \rightarrow x^2 - 3x + 3 = 0 \rightarrow x = \frac{3 \pm \sqrt{9 - 12}}{2} = \frac{3 \pm \sqrt{-3}}{2}$ (ج) ۲

د) $y = x \rightarrow x^2 - 3x + 3 = 0 \rightarrow x = \frac{3 \pm \sqrt{9 - 12}}{2} = \frac{3 \pm \sqrt{-3}}{2}$ (د) ۲

الف) $R_f = \mathbb{R}$ ب) $R_f = \mathbb{R}$ (الف) (۲)

ج) $R_f = \mathbb{R}$ د) $R_f = \mathbb{R}$ (ج) ۳

الف) $R_f = \mathbb{R} - \{3\} \checkmark$ (الف) (۲)

ب) $R_f = \mathbb{R} - \{2\} \checkmark$ (ب) ۴

$\sqrt{\mathbb{R} - \{2\}} \rightarrow R_f = [0, \infty) - \{\sqrt{2}\} \checkmark$ (الف) (۲)

$\sqrt{\mathbb{R} - \{2\}} \rightarrow R_f = [0, \infty) \checkmark$ (ب) ۵

الف) با توجه به تذکره $x > 0$ و $x < 0$ می تواند باشد پس $R_f = (-\infty, 0) \cup [2, +\infty)$ ✓ ب) $R_f = (-\infty, -2] \cup [2, +\infty)$ ✓ ج) $R_f = (-\infty, -2] \cup [2, +\infty)$ ✓ د) چون $x > 0$ پس $R_f = [2, +\infty)$ ✓	۲ ۷
الف) $x > 0$ و $x < 0$ پس $R_f = (-\infty, 0) \cup [2, +\infty)$ ✓ ب) $R_f = [2, +\infty)$ ✓	۲ ۸
$y = x - 3 + 4$ $\rightarrow$ $4x + 1$; $x < 3$ $\rightarrow$ $2x + 7$; $3 < x < 4$ $\rightarrow$ $-4x - 1$; $x > 4$ ✓	۱, ۵ ۹
الف) $R_f = [3, +\infty)$ ✓ ب) $R_f = [-2, +\infty)$ ✓	۱ ۱۰

$$x+1=0 \rightarrow x \neq -1$$

$$\frac{a}{c} = \frac{y}{1} \rightarrow y = \frac{a}{c}$$

الف) بجانب قائم شبه منفرج $\frac{a}{c}$ بجانب اقصي

$$\frac{a}{c} = \frac{y}{1} \rightarrow y = \frac{a}{c} \Rightarrow x = \frac{a}{c}$$



$$\frac{a}{c} = \frac{y}{1} \rightarrow y = \frac{a}{c} \Rightarrow x = \frac{a}{c}$$

